SUITA aTaaqT® WUl UHEdT- 2024 uviceam
-@ ENCE CITY me&w@

PELIEED]
T :- 100 T[0T :- 100 ST :- 6 . de ;- 2 AN
HedIdT T

1) ST URIel HTBTd HIVAIR! IRUDR GBS U Ui TEwIdl IE Hudrd dsd.,

2) Heagale  HITTRd WRIET Hard U JUR ATet

3) WRIER 3Ol IR URASGT STHT HRAMT Tdhal HRad! Alfgd! qurRg &rdt

4) TRe S19d Wi 9 TRIT THA0ET G b HRIa.

5) TRIEMT FeTd 20 A St gURT TH aToTdl www.uysc.in T THaRIBIAR STe R HRUATd A5,

6) WX UyUTADT fag e Wl alien aefie Ue ITH AT 3iTg form |iuTe He.

7) & SUITHdR HTUUT YYUAST Jiad 7S Ydhdld.

8) SIS TRISHTS! T gadh ST,

Science- 60Marks

1. What is used in electronic bulb ?
A) Neon B) Xenon C) Helium D) Argon

2. In fire extinguisher............... gas is used.
A) carbon dioxide B) carbon monoxide C) nitrogen D) sodium



3. Which is not the inert gas in air ?

A) argon B) ozone C) Neon
4 i percentage of the land is covered by water.

A) 70% B) 81% C) 711%
5. The gas used in fluorescent tubes is ..................... .

A) Argon B) Helium C) Neon

6. Gas released in air on combustion of fuelis ................. .
A) Hydrogen sulphide B) Carbon tetrachloride

7. Nicotianaisa ....................
A) Species C) Genus
8. Metabolism refers to...................
A) Release of energy B) Gain of energy C) Catabolism

9. The term phylum was coined by

A) Linnaeus B) Cuvier C) Haeckel
10 s is the structural and functional unit of all living things.
A) Matter B) Cell C) Organs
11. Which of the following aquatic plants grows completely submerged in water?
A) Water hyacinth B) Hydrilla C) Water lily
12. Which of the following animals does not have gills?
A) Squids B) Octopus C) Dolphin

13. Which of the following is not correct option.
A) Ambulance - 102 B) Police control room - 100
C) Fire Brigade - 101 D) Child help line — 1089

14. A frequently occurring natural disaster in all parts of the world is ................... .

A) Earthquake B) Tsunami C) Flood
15. Find the odd term :

A) Adulsa B) Datura C) Behada
16. What helps to breathe a caterpillar ?

A) Spiracles B) Lungs C) Gills
17. From the following which is not invertebrates ?

A) Spider B) insects C) Snake
18. Frog, Toad, Salamander is the group of ........ccccevvvevvrvien.

A) Terrestrial B) Amphibian C) Aquatic

19. Drosera plant is ...........ccceeue...

A) Autotrophic B) Heterotrophic C) Insectivouous

C) Nitrogen dioxide

D) krypton

D) 80%.

D) Krypton.

D) Oxygen

D) Class

D) Gain or release of energy

D) Theophrastus

D) Tissue

D) Lotus

D) Fish

D) Volcanic eruption

D) Hirda

D) Cuticle

D) Snail

D) Aerial

D) None of the above



20. The temperature inside a freezer is .........cc.cceeveevenens

A) 15°C B) 0°C
21. Freezing point and the melting point of water is
A) Same B) 0°C
22, i, is made by melting silica.
A) Tools B) Glass
23. A substance with greater ................ has greater density.
A) Volume B) property

24. The property of metals to be converted into sheets is called

A) Ductility B) Transparency

25. Solid ................ is called dry ice.
A) carbon monoxide B) carbon dioxide

26. Metals like gold can be drawn into ..................
A) wire B) sheet

27 e of water means sublimation.
A) evaporating B) melting

28. | make things hot or cold. Whoam I ?
A) water B) heat

29, i, were made from iron.
A) A screwdriver B) A pair of tongs

30. Which temperature is measured in Fahrenheit ?

A) substance B) objects
3l e, is also known as synthetic silk.

A) Rayon B) Nylon
32.Thesap of ................ is called latex.

A) jute tree B) pine tree
33. Vulcanization is a ................ process.

A) chemical B) physical
3. i fibre is manufactured from mineral oil.

A) polyester B) Rayon
35. Find the odd one out :

A) Vitamin A B) Vitamin B
36. Find the wrong term :

A) B1- Nuts B) B9 — Kiwi

37. Total bones of skull are .............
A) 22 B) 23

C) -10°C

C) Only A

C) Ornaments

C) solubility

C) carbon phosphate

due to its property of ductility.

C) cube

C) freezing

C) soil

C) Electric Cables

C) Body

C) dacron

C) Rubber tree

C) natural

C) Nylon

C) Vitamin D

C) B12 - Amla

C) 24

D) -18°C

D) Both A & B

D) none of above

D) all of the above

D) Malleability

D) none of above

D) crystal

D) boiling

D) coal

D) Ornaments

D) none of above

D) jute

D) none of above

D) man made

D) Terylene

D) Vitamin K

D) C — Lemon

D) 21



38. is an important sensory organ of the body.

A) Skin B) mouth C) eyes
39. The human skeletal system is divided into ........... Parts.
A1l B) 3 C)4
40. The main function of sweat is to.............
A) Reduce the body temperature B) Remove the excess water
C) Keep the skin moist D) Making the body hot
41. The system which gives a definite shape to our body.
A) Excretory system B) Skeletal system C) Respiratory system
42. Hinge joint moves ina ............ Angle.
A) 190° B) 360° C) 180°

43.t0 45. : Identify the types of :

43. A fish swimming in water:
A) periodic B) oscillatory C) Random

44. Moving train:
A) non - linear B) Linear C) random

45. A horse is pulling the cart :
A) muscular force B) mechanical force C) frictional force

46. Kilometre / hour is the unit of ..............

A) velocity B) distance C) average
47. Find the odd one out :
A) Linear motion B) period motion C) random motion
48. The force of friction always acts ............... the motion.
A) against B) along C) above
49. Gravitational force was discovered in ........... Century.
A) 16" B) 19" c) 17t
50. The force of friction is created between two ............... surfaces.
A) Same B) smooth C) big
51. Find the odd one out :
A) handcart B) plough C) car
52, i, is transformed into food energy by the plants.
A) chemical energy B) heat energy C) light energy
53. The unit of measuring the ............... is calories.

A) sound B) heat C) temperature

D) ear

D) 2

D) Circulatory system

D) 90°

D) circular

D) uniform

D) gravitational force

D) speed

D) oscillatory motion

D) none of above

D) 15t

D) rough

D) grinding stone

D) all of the above

D) light



54. Find the odd one out :

A) wind energy B) tidal energy C) atomic energy

55. The structure of a complex machine is ...............
A) complicated B) simple C) doubled
56. To load a drum on a trunk, which type of machine is used ?
A) lever B) pulley C) inclined plane
57. Find the wrong type :
A) Knife — Wedge
C) A pair of tongs — Lever

B) Water wheel — Pulley
D) Can opener — lever

58. The rotation of a lever takes place around a .............

A) load B) arm C) effort
59. The transmission of sound is fastest in .............

A) liquid B) solids C) air
60. The pinhole camera is the .............

A) reflection B) inverted image C) luminous

Mathematics- 20 Marks

61. ..o, lines can be drawn through one point.

A) one B) two C) zero
62. A ............ Angle measures 180°.

A ) right B) complex C) straight

63. Find the odd term :

A) zero B) integers C) positive no.
64. (-5) + (-3) = .eoevnne

A) -8 B) 8 C)o0
65. The sum of two opposite numbers is ............

A) double B) zero C) same
66.40 + 27.7 + 2.451=............

A) 701.51 B) 7.0151 C) 7015.1

67. Aroad is 4 km 800 m long. If trees are planted on both its sides at intervals of 9.6 m,

how many trees were planted?

A) 1000 trees B) 1004 trees C) 1002 trees
68. Find the LCM of 13 and 6.

A) 91 B) 48 C) 78

69. The ............. of two numbers cannot be bigger than their product.
B) HCF C) both A& B

D) green energy

D) smooth

D) wedge

D) fulcrum

D) none of above

D) non luminous

D) infinite

D) complete

D) negative no.

D) both A & B

D) none of above

D) 70.151

D) both Aor C

D) 54

D) none of above



70. Find the ratio of : 1 litre, 250 ml
A)1:25 B)4:1 C)1l:4

71. Vijay has 36 notebooks and 63 pens. Find the ratio of notebooks to pens.

A)9:4 B)4:9 C)7:4
72. A bunch of 15 books costs 45 rupees. How much will 8 books cost?

A) 32 Rs. B) 24 Rs. C) 16 Rs.
73.3/4 partof 100 s ...........

A) 25 % B) 60% C) 75%
74.10% =

A) 10 B) 1000 C) 100
75. If the selling priceis .......... than the cost price, there is a loss.

A) -ve B) equal C) more
76. If Cost price = Rs . 700 & profit = Rs.99, then find the selling price?

A) 800 B) 799 C) 812
TT. e, Is written as p.c.p.a.

A) rate of interest B) principle C) amount

78. Formula : Amount = principle + ..............

A) rate B) period C) interest

79. At a rate of 10 p.c.p.a., what would be the interest for one year on Rs. 6000?
A) 500 B) 400 C) 600

80. Pentagonal prism has ....... Vertices.
A) 12 B) 10 C)5

General Knowledge- 20Marks

81. What is the launch date for Chandrayaan 3 mission?

A) 24 July 2023 B) 14 July 2023 C) 13 July 2023
82. The Chandrayaan 3 mission’s rover is known as

A) Vikram B) Bheem C) Pragyaan
83. The mission life of the Lander and Rover equal to

A) 14 Earth Days B) 24 Earth Days C) 16 Earth Days
84. Which launcher is used for Chandrayaan-3?

A) GSLV B) LVSM C) GSLV-MK3

D)25:1

D)4:7

D) 56 Rs.

D) 45%

D) 50

D) less

D) 785

D) period

D) all of above

D) 800

D)7

D) 04 July 2023

D) Dhruv

D) 12 Earth Days

D) PSLV



85. The mission objectives of Chandrayaan-3
A) To demonstrate Rover roving on the moon and
B) To demonstrate a Safe and Soft Landing on Lunar Surface
C) To conduct in-situ scientific experiments.
D) All of the above
86. How much did the Chandrayaan 3 mission cost?
A) 1200 Crores B) 960 Crores C) 600 Crores D) 540 Crores
87. What is the total weight of Chandrayaan 3?
A) 4,100 kilograms B) 3,900 kilograms C) 2,190 kilograms D) 5,200 kilograms
88. What is that one thing in Chandrayaan 3 and not in Chandrayaan 2?
A) Laser Doppler Velocimeter (LDV) B) Laser-based Interferometry
C) Ultrasonic Doppler methods D) Molecular Tagging Velocimetry
89. Which of the following is missing in Chandrayaan 3?
A) Rover B) Lander C) Orbiter D) None of the above
90. Who is the director of the Chandrayaan 3 mission?
A) Veeramuthuvel B) M Vanitha C) Ritu Karidhal D) K. Sivan
91. Where will Chandrayaan 3 land on the moon?
A) Near the South Pole B) Near the North Pole
C) In the equatorial region D) None of the above
92. What is the landing schedule for Chandrayaan 3?
A) August 29, 2023 B) August 25, 2023  C) August 23,2023 D) August 24, 2023
93. How did Chandrayaan-2 welcomed Chandrayaan-3?
A) Hello Buddy! B) Hi Buddy! C) Welcome Buddy! D) Hey Buddy
94. Who is the Rocket Woman Behind Chandrayaan 3 Mission?
A) Moumita Datta B) Ritu Karidhal C) Nandini Harinath D) Tessy Thomas
95. What name is given to the Chandrayaan 3 landing spot?

A) Shiva-Shakti Point B) Shiva-Parvati Point C) Shiva-Shambhu Point D) Shiva-Bhakti Point



96. Which chemical element is found on Chandrayaan 3?
A) Titanium B) Sulphur C) Magnesium D) Chlorine
97. What is the launch date for the Aditya L1 Mission?
A) 14 August, 2023 B) 23 August, 2023 C) 2 Sept, 2023 D) 22 Sept, 2023
98. Who is launching the Aditya L1 Mission?
A) ROSCOSMOS B) NASA C) ISRO D) European Space Agency
99. How long the spacecraft will travel under the Aditya L1 mission?
A) 3.5 million kilometres B) 4.5 million kilometres ~ C) 2.1 million kilometres D) 1.5 million kilometres
100. Aditya L1 mission will observe:

A) Photosphere B) Chromosphere C) Outermost layers of the Sun D) All of the above
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